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ABPC d ., ACPA d ~ AAPB d
ABAC d+a ACBA dp AACB dy
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1/99 = 1/3%3/6*6/9% ... *93/96 * 96/99 < 1/3*4/6* ... *97/99 -
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Let A=1/3*4/6*7/9 *..*94/96*97/99 and
B=3/4%*6/7*9/10* ... *96/97 * 99/100.

We have that A < B.

Then A*A < A*B = 1/100. We can only get A < 1/10.

In order to get A < 1/15, we need to decrease the item 3/4 in B to 1/3.

Now, let C=1/3 * 6/7 * 9/10 * ... * 96/97 * 99/100.

We have that A< C.

Hence A¥*A<A*C=1/3 *4/6 *7/9 * ... * 94/96 * 97/99 *

1/3 * 6/7 * 9/10*...* 96/97* 99/100

=1/3*4*1/3*1/100 = 4/900 = 1/225

Therefore A*A < 1/225 = (1/15)*(1/15), i.e., A< 1/15.
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B XAY+Z=0. (1)
BXHY+HZ=0 (2)
AX4+dy+2Z4+€=0 .ot (3)
KATE2ZMen> e dici: (abe) ol (4)
(1) (4) =0=(31L1)«(a,b,c)=3a+b+c......... (5)
(2) (4) =0=(L11){(a,b,c)=a+b+c............ (6)
(3) (4) = (4,d,2)(a,b,c)=4a+bd+2c...... ... (7)
(5)(6) =>2a=0=a=0..........ccceevin.... (8)
(5)(6)(7)(8) =b+c=0...cccceeiiiiiin... (9)
bd+2c=0......ccciiiii. (10)
(9) =D =—C i (11)

(10) (11) =0=(-c)d+2c=c(2-d)

S C=08 2=0 oottt (12)
2c=08] (11) =b=04 (abc) = (0,00) & & & °
mecx0=>2=d

(11) (8) == »# (abc) = (0,—c,c)

(0, —11) R 2 s R(1)(2)=2X=0=X=0. it
(13)

(3)(12) = 4X=2X4+€=00oeiriiiiiiiiiiaiiainn. (14)

(13)(14) = =0t (15)

(14) (15) =>d+e=2+0=2

[+ 2): 42 k(Bx+y+2z)+(x+y+2)=0

= k(3k+1)x+(k+1)y+(k+1)z=02 4x+dy+2z+e=0+" & % # ¥ d =0 ~

3k+1=4... (1)
=k=1............ (2)
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(1) =0=[(x—2y+3z)+d, |[(x—2y+3z)+d, |

= (x=2y+32)" +(d, +d,)(x=2y+32)+d,d, ..o (2)
(1) (2) = 048y =0ueeeeeeeeeeeee e (3)
Ay, = =28 oo, (4)
A=-12, B=6 oo, (5)
(3) 250, = Oy v, (6)

(5) >a+f—=—F6



